
 

                    Lesson 19 Quiz         

SBU 2020 Lesson 19 (quiz)    

 

 

1) West North East South 

 - - 1 1 

 ??? 

 

 a) What would a 2 bid by West mean? _________________________________________ 

 b) What would 2 mean?   _________________________________________ 

 c) 1NT?     _________________________________________ 

 d) 3?     _________________________________________ 

 

 

2) Partner opens the bidding with 1, and RHO overcalls 1. 

 What do you bid with these hands? 

 a)  1094 b)  98 c)  875 d)  AJ1073 

   A82   KQJ72   KJ42   A54 

   73   654   1064   6 

   AQJ65   A63   A93   J1092 

 

 ____________  ___________  ____________  ___________ 

 

 

 

3) Partner opens 1, RHO overcalls 2. 

 What is your response? 

 

 a)  A1072 b)  K62 c)  QJ62 d)  A1043 

   63   KQ53   A84   Q6 

   954   QJ964   K107   A952 

   AQ108   7   KJ9   J87 

 

 ____________  ___________  ____________  ___________ 


